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5. (a+b+2)?—(—a+b-2)? S A5rEFHH?
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CE:EP = CA:AB
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E}E}A—]ﬂ:ﬁ—%xﬂEix(G—%x) =16

L,
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11. ab-6a+5b-48 =0
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ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
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12, 16— 2% + 4xy - 4y & A5-E5o1H?

@ (x+2y-4)(-x+2y4+4) @ (x-2y+4)°
® (x—2y+4)(x+2y—4) @(x—2y+4)(—x+2y+4)

©® (-x-2y+4)(x+2y+4)
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16— (2~ 4y + 47) =16 - (x- )
= 4% - (x-2y)°
=[44+x-2y)(4-x+2y)




13. x=2+V3,y=2-V3 L4 o, x?—y? +4x—4y °] A9 & FoHH?

O -4 @ 4 ® 83 @16«/5 ® 24

x, y o] & & ot
X+y=2+V3+2-V3=4
xX—y=2+ \/3—(2— \/3)22\/3

X —y? 4+ 4x -4y
=(x+y)(x-y)+4(x-y)
=(x-y)(x+y+4)
=2V3x(4+4) =163
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AT F o] ¥ F F A FAFL] Hol=?
D 4+2V3 @)6+2+3 ® 4+3V2
@ 3+2v6 ® 24+6V3

Hol7h 90 9 golel 2 7ha ),

B

(2 99 WAE) =
24 — 2x

(Fe Yol Htx2) = >

=12—x

m{x®+ (12 - x)?} = 144n x ;

2-12x+24=0
x=6+2V3
Lx=64+2V3 (- 6<x<12)
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